MONDAY 12/ Tt Out

" CAADE mMAaTH T olieszng Vocabula FHelp™/ fa
BugIdeasMafh com

Review Key Vocabulary

inequality, p. 126 solution set, p. 126
solution of an inequality, p. 126 graph of an inequality, p. 127

Review Examples and Exercises

Writing and Graphing Inequalities (pp. 124-129)
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a. Six plus a number x is at most —Z.erte this word sentence as an inequality.

sixplus anumber x is atmost =
— J L _J
B g Y
rasiaiasion = _1
0= S 1

Aninequalityis6 + x < ~i.

b. Graphm > 3.

Step 1: Use an open circle Step 4: Shade the number line on
because 3isnota solutlon the side where you found the solutton
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Step 2: Test a number to the left Step 3: Test a number to the
of 3.m = 2is not a solution. | nght of3 m= 4 is a solutton

Exercises
Write the word sentence as an inequality.

1. Anumber w is greater than —3.

: ; 3
2. Anumber y minus % is no more than =5

Tell whether the given value is a solution of the inequality.
3. 5+js>8:j=7 4. 6 +n< -5n=-3
Graph the inequality on a number line.

5. g> =13 6. s<1%

7. BUMPER CARS You must be at least 42 inches tall to ride the bumper cars at an
amusement park. Write an inequality that represents this situation.




